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_All questions are compulsory.

Choice is given within the queistion.

1. Attempt any fwo parts :
(@) () Construct the truth table of :
PV ~pnrg). 1

(i) State dand prove De  Morgan’s laws of
propositions. 1%

PTO.
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(iid Test the validity of the argument :
PO G gl p 1%
(b) ()  Evaluate :
(A 1 BC)® (aB 4 'cD)
for A=1,B=0,C=D=1. 1%

(i) Write the two canonical forms for the logical

function :
AA.B, Q) =1, 3, 4)

Also design a circuit of any one of these

forms. ‘ 2%
(¢) Construct the Kama_ugh map for :
fA,B,C,D)=%(0,2,4,8,10, 12, 14) + 1, 3, 7, 15)
and find :
) co'mplete sum

(if)  minimal sum. 1,12
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2" Attempt any fwo parts

(@

(6)

(0)

®

(if)

(i)
(%)

(i)

(i)

{

(i)

(ii})

Convert {536.491),, to octai. |

Divide 10001 by 1101 using restoring division upto

three places of binary point, 1%
Write INDIA in 7-bit ASCII code. 1.
What is an overflow ? i

Using 9°s and 10’s complement, subtract 335

from ~425. ' ' 1A
What is an end-around carry ? l

When is a f]oatihg point humber said to be

normalizéd ? , . ]

- Perform binary multiplication :

1011011 * 10.161. . . %

Why is zero called a dirty zero ? ‘ 1

PTO:



(4) . %70

3. Attempt any hwo parts :

(a)

()

O

@y

(iid)

@

M :

Determine the value of each of the following

expressions :
1y 6=17
@  suce(-5). 1

Identify invalid identifiers with justification :
(Iy ROLL#
2y 1d Neo, i

Write expression in PASCAL for the fdllowing

expressions |
1~x
M lo
Be 1+ x2
. 1-eV
@

——— 2
Jsin(l x 1+ 4)

L

What is the final value of K in the following

program ?

K.

B

5;1:=3;L:=1252

1+ 1000 +L*10

K : =M div 1060 + K. 1.
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(ily  Write the general form of repeat - until control
structure. How does it differ from while_do control

structure ? o . 1%

- (i) How many times the word MATRIX: will be printed

aftér executing the following skeieton : 14
F:=8;

While(I < = 20) do

begin

end;

(c)  Wtite a program in PASCAL to find the average of

any {2-numbers. 4

PTO.
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4. (@) What is a multistage decision problem ? Which
principle is used to solve a multistage decision

probiem ? State it. 2

E

(b) Find the optimal path from the source to sink in
the following labelled directed graph, exhibiting or

explaining the procedure you adopt. 5

Source -Sink
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